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2
1 IfA= [5 32] be such that AA™L =A, then L is
(@) 17 (b) 14 (c) 19 (d) 21
2) IfATA ! is symmetric, then A2 =
(a) A (b) (AT)? (c) AT (d) (A1)
3) 1f0<0 <mand the system of equations x + (sin0)y - (cos8)z=0, (cos®)x - y +z =0, (sinB)x +y - z= 0 has a non-trivial solution then 0
is
27 3 5T s
(a) 3 (b) e (c) 5 (d) 1
4) 1 2 7 3
The augmented matrix of a system of linear equationsis | 0 1 4 6 . The system has infinitely many solutions if
00 A—7 pu+5b
(@) A=7,u#-5 (b) A=7,pn=5 (€) A#£T,u#-5 (d) A=7,n=-5
5) [1 =z 0
fP=(1 3 0 |[istheadjointof3x3matrixAand |A|=4,thenxis
|2 4 -2
(@) 15 (b) 12 (c) 14 (d) 11
6) IfA= 3},then9I—A:
i 2
1 At -1 -1
(a) A (b) - (C) 3A (d) 2A
7) (3 4
ifA=| ° g ] and A=A, then the value of x is
:I: iy
L 5
—4 -3 3 4
(@) 3 (b) == (© & d =
8 0 in 0 k
) IfA= CO? St ]andA(ade)= [ 0]then adj (AB) is
| —sinf cos 0 k
(@ 0 (b) sin® (c) cos6 (d) 1
b
2 1fxyP=e™ xy9=e", A; = ',A2= @ m,A3= , then the values of x and y are respectively,
n cn c
Az/Aﬂ, e<A3/A (b) log (A1/A3), log (Aa/As) (<) log (Az/Ay), log(As/Ay) (d) elA/As) el
-1 o=
[ 7] ndA'1=[ 3 ],thenB"l=
2 8 5 3 1 8 -5
a b 4 d
<)[_3 8] o |3 ] @5 1] o %)
11) 3 1 -1 a1l a2 a1
fA=12 —2 0 |andA"=|ao; az ao3 |thenthevalueofaysis
1 2 -1 a1 az2 ass3
(@ o (b) -2 (c) -3 (d) -1
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12) 3 -3 4
IfA=1]12 —3 4]|,thenadj(adjA)is
0 -1 1
3 -3 4 6 —6 8 -3 3 -4 3 -3 4
@ |2 -3 4 (b) [4 —6 8 © -2 3 —4 d (0 -1 1
0 -1 1 0 -2 2 0 1 -1 2 -3 4
13) If |adj(adj A)| = |A°, then the order of the square matrix A is
(a) 3 (b) 4 (c) 2 (d) 5
14) IfadjA= [2 3 ] and adjB= [ 1 2] then adj (AB) is
4 -1 — 1
-7 -1 -6 5 -7 7 -6 -2
@ [7 —9] ) [—2 —10] (© [—1 —9] @ [5 —10]
15) If Ais a 3 x 3 non-singular matrix such that AAT=ATA and B=AAT, then BB' =
(@) A (b) B (c) I (d) BT
16)

IfA=[2 O}andB=[1 4]thenladj(AB)l=
1 5 2 0

(a) -40 (b) -80 (c) -60 (d) -20
17) Which of the following is/are correct?

(i) Adjoint of a symmetric matrix is also a symmetric matrix.

(i) Adjoint of a diagonal matrix is also a diagonal matrix.

(iii) If Ais a square matrix of order n and A is a scalar, then adj(AA) = A" adj(A).

(iv) A(adjA) = (adjA)A = |A| |

(a) Only (i) (b) (ii) and (iii) (c) (iii) and (iv) (d) (i), (ii) and (iv)
18)

-5 3 5 3 -1 -3 5 —2
o7} CRRA @5 7 @[>

19) If p(A) = p([A | B]), then the system AX = B of linear equations is

5 3
If Ais a non-singular matrix such that A = [ . ] ,then (AT)1=

(a) consistent and has a unique solution  (b) consistent (c) consistent and has infinitely many solution  (d) inconsistent

20) IfA[l _2] = [6 0 ,thenA=

1 4 0 6]
1 -2 1 2 4 2 4 -1
a b C d
ol ] CR I N o[y ]
21) 2 -1 17 3 1 -1
letA=| -1 2 —1]|and4B=| 1 3 =z |.IfBistheinverseofA,thenthevalueofxis
1 -1 2 | -1 1 3
(@) 2 (b) 4 (c) 3 (d 1
22) IfA, B and C are invertible matrices of some order, then which one of the following is not true?
(a) adjA=]|AJA? (b) adj(AB) = (adj A)(adj B) (c) detAl=(detA)? (d) (ABC)l=cC1B1Al
2 1ta= |3 O B=adjAand C=3A, then 1242l
(1 2 il
@ 5 (b) © § (d) 1
24) [ 1 tang
IfA= 0 and AB=1,thenB=
| — tan 3 1
(a) (cos2 g) A (b) (cos2 g) AT (c) (cos2 0) I (d) (Sinzg)A
25) 1 2 3 4
Therankofthematrix | 2 4 6 8 |[is
-1 -2 -3 4
(a) 1 (b) 2 (c) 4 (d) 3

hkhkhkhkkkhkkhkkhkkhkkhkkhkkhkkhkkkkkkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkx



www.Padasalai.Net www.TrbTnpsc.com



www.Padasalai.Net

www.TrbTnpsc.com

PATTUKKOTTAI PALANIAPPAN MATHS
APPLICATIONS OF MATRICES AND DETERMINANTS

12th Standard EM

MATHS - A

P.A.PALANIAPPAN,MSc.,MPhil.,BEd.,
PG ASST IN MATHS
GBHSS-PATTUKKOTTAI
THANJAVUR DIST
9443407917

Time : 00:30:00 Hrs

A - Answer Key
Answer All the questions
1) (c)
2

w

o U1 b
o

~

O

)
) (b)
) (d)
) (d)
) (d)
) (d)
) (a)
) (d)
) (d)

12) 3 -3 4
(a) 2 -3 4
0 -1 1

A=T,u=-5

elB1/A3) o(Aa/A3)

2 -5
@ Y

(b) [—6 5

—2 —10]

-80
(i), (i) and (iv)

5 —2
s ol
consistent
4 2
5
adj(AB) = (adj A)(adj B)

(0052 ﬁ) AT

2
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1) it 2403 g
(@ o (b) 1 (c) -1 (d) i
2) Thevalueof 321%, (" + i) is
(a) 1+i (b) i () 1 (d) o
3) The area of the triangle formed by the complex numbers z,iz, and z+iz in the Argand’s diagram is
1
(a) 5|z|2 (b) |z? (c) g|z|2 (d) 2|z
4 The conjugate of a complex number is - 5 /Then the complex number is
/L —_—
@) — b) — 0 — @ —
a c
1+ 2 i+ 2 i—2 i—2
5 A3 /o 2
5) 3+1) (31 +4
If z = (\/ ) ( 5 ) ,then |z| is equal to
(8 + 6i)
(@ o (b) 1 (c) 2 (d) 3
6) Ifzisanon zero complex number, such that 2iz=z then |z| is
1
(a) 5 (b) 1 (c) 2 (d) 3
7) If |z-2+i]<2, then the greatest value of |z| is
(@) /3 -2 (b) V342 (©) v/5—2 (d) v/5+2
8) If |2 — —| = 2then the least value |z| is
z
(@) 1 (b) 2 (c) 3 (d) 5
_|_
9) If |z|=1, then the value of i is
z
v 1
(@) z (b) 2 {eh S (d) 1
z
10) The solution of the equation |z|-z=1+2i is
(a) 5 21 (b) 3+2' (c) 2 4 (d)2+3'
——2 —— ) — =1 —1
2 2 2 2

11

) If |2171,|25|=2|23|=3 and |92,2,+42,23+2,25|=12, then the value of |z,+2,+23] is
(@) 1 (b) 2 (c) 3 (d) 4
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1
) If zis a complex number such that z2C' /R and z + —eR then|z|is
z

(@ o (b) 1 (c) 2 (d) 3
13) 1,7, and z3 are complex number such that z;+z,+z;=0 and |z,|=|z,|=|z3|=1 then z,%+z,%+25% is
(@) 3 (b) 2 () 1 (d) 0
14) z—1. ) .
If is purely imaginary, then |z| is
z+
1
(a) 5 (b) 1 (c) 2 (d) 3
15) If z=x+iy is a complex number such that |z+2|=|z-2|, then the locus of z is
(a) real axis (b) imaginary axis (c) ellipse (d) circle

6 The principal argument of

-1+
@ —= b) —= A @) —
6 3 4 2

17) The principal argument of (sin 40°+i cos40°)° is

(@) -110° (b) -70° (c) 70° (d) 110°
18) If (1+i)(1+2i)(1+3i)...(1+ni)=x+iy, then 2 - 5 - 10... (1 + n?) is

(@) 1 (b) i (0) x*+y? (d) 1+n?
19) Ifw # 1is a cubic root of unity and (1 + w)7 = A + Bw ,then (A,B) equals

(a) (1,0) (b) (-1,1) (c) (0,1) (d) (1,1)
0 (1+iv3)’

The principal argument of the complex number —— = is

4i (1 — i/3)
@ 2 (b) — © 2 () =
3 6 6 2

21) If e and B are the roots of x2+x+1=0, then a2020 + 52020 jg

(a) -2 (b) -1 (1 (d) 2
22) s ™ Z

The product of all four values of (cosE + zsmg) is

(@) -2 (b) -1 () 1 (d) 2
23) 1 1 1

Ifw # lisacubicrootofunityand |1 —w? w? |=3k,thenkisequalto

1 W WP

(@ 1 (b) -1 (c) v/3i (d) —/37
24) 1435\ "

Thevalue of | ————

(o)
(a) cisz—7r (b) cis4—7r (c) —cz’sﬁ (d) —cis4—7r
3 3 3 3

25) o z+1 w w?

If w = cis —, then the number of distinct roots of | w 2+ w? 1

it w? 1 z+w
(@ 1 (b) 2 (c) 3 (d) 4
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Answer All the questions
1) (a) 0
2) (a) 1+i
3) (a) l|z‘2
2
4) -1
i+ 2

5+ 2

-
e
N "'{|l\.’)|r—tN

— 21

H O =N W

imaginary axis

—3r
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Answer All the questions

1) Ifx2 hx-21=0andx%-3hx+35=0(h>0) haveacommonroot,thenh=____ _
(@) 0 (b) 1 (c) 4 (d) 3

2) Ifj(x)=0hasnroots, thenf'(x)=0has______ roots
(@ n (b) n-1 () n+1 (d) (n-r)

3) Ifthe root of the equation x3 +bx?+cx-1=0 form an Increasing G.P, then
(a) one of the rootsis 2 (b) oneoftherotsis1 (c) oneoftherotsis-1

4) Theequationy/z+1—+/z —1=+/4z — 1has
(@) no solution (b) one solution (c) two solution (d) more than one solution

5) 1f p(x) = ax? + bx + c and Q(x) = -ax* + dx + c where ac # 0 then p(x). Q(x) = 0 has at least

(@) no (b) 1 (c) 2 (d) infinite
6) If the equation ax2+ bx+c=0(a > 0) has two roots & and B such that «c<-2 and B >2, then
(a) b2-4ac=0 (b) b%-4ac<0 (c) b2-4ac>0

7) The number of real numbers in [0,2n] satisfying sin*x-2sin?x+1 is
(a) 2 (b) 4 (1
8) A polynomial equation in x of degree n always has
(@) ndistinct roots (b) nrealroots (c) nimaginary roots

9) If, B, ¥ are the roots of the equation x3-3x+11=0, then <+p+Y¥ is

(@) 0 (b) 3 (c) -11
10) If o,B and y are the roots of x3+px?+qx-+r, then E% is
g P a
(@ -~ (b) = (© =
11) If x3+12x>+10ax+1999 definitely has a positive zero, if and only if
(@) a>0 (b) a>0 (c) a<o0

12) Ifa,b,c € Qand p +Vq (p,q € Q) is an irrational root of ax*+bx+c=0 then the other root is
(a) -p+Vq (b) p-iq (c) p-Vg

13) The quadratic equation whose roots are o and B is

(@) (x-oc)(x-B)=0 (b) (x-o<)(x+B)=0 (c) oc+p=2
14) If «, B,¥ are the roots of 9x3-7x+6=0,then B ¥is_____
(a) o (b) 3 (c) 0

15) Ifax®+bx+c=0, a, b, c E R has no real zeros, and ifa+b +c<0, then __

__realroots.

(d) b2-4ac>0

(d) oo

(d) at most one root

(d) a<0

(d) cp==t
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(@) c>0 (b) c<0 (c) c=0 (d) c0
. 2
16) For real x, the equation ’m%‘ + |z| = ﬁ has
(a) one solution (b) two solution (c) atleasttwo solution (d) no solution

17) Leta>0,b>0,c>0.h n both th root of th quatlon ax?+b+C=0 are
(a) real and negative (b) real and positive (c) rational numbrs

18) The polynomial x3-kx?+9x has three real zeros if and only if, k satisfies

(a) |k|<6 (b) k=0 (c) |k|>6 (d) k=6
19) According to the rational root theorem, which number is not possible rational root of 4x"+2x*10x3-52

(a) -1 (b) 2 (c) 5 (d) 5
20) Ifxisreal and % then

(a) % <k< (b) k=5 (c) k=0 (d) none
21) Iffand g are polynomials of degrees m and n respectively, and if h(x) =(f 0 g)(x), then the degree of h is

(@) mn (b) m+n () m" (d) nm
22) The polynomial x3+2x+3 has

(a) one negative and two real roots (b) one positive and two imaginary roots (c) threerealroots
23) If (2+\/3)x2-2x+l+(2-\/3)x2—2x-l=Q_L\/g then x=

(a) 0,2 (b) 0,1 (c) 0,3 (d) 0,3
24) Azero of x3+64 s

(@ o (b) 4 (c) 4i (d) -4
25) The number of positive zeros of the polynomial jglonCT (-1)"x"is

(a) 0 (b) n (c) <n (d) r

khkhkkhkkhkkhkkhkkhkkhkkhkkhkkhkkkkkkkkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkhkkkkkkkx
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one of the rotsis 1

no solution

b2-4ac>0

n distinct roots

a<0
p-\q
(x- ) (x-p) =0
at least two solution
real and positive
|k|>6

1
3 <k<

one negative and two real roots
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25x1=25
. 13 112 -15 1- 13.
1) sin = —cos i3 +sec y—cosec s equal to
(a) 2 (b) (c) 0 (d) tan 22
2 ™
) If sin laz — cos tx = g then
1 V3 -1
a) — b) — <) — d) none of these
(a) 5 (b) 5 (c) 3 (d)
3) sin(cos x)= 7 — zisvalid for
(@ - m<z<0 (b) 0T <z <0 (€ —3<z< 7% (d —Z<z<im
4) 57 27
Ifa = tan™? (tan7> and 8 = tan~! (—tan? then
s
(a) 4o =38 (b) 3aa =48 () a—pB= E (d) none
5)  The equation tan" x-cot x:tan‘l(%) has
(a) nosolution (b) unique solution (c) two solutions (d) infinite number of solutions
6) Ifcot—lx=2T7r for some xER, the value of tan" x is
(a) == (b) Z © = (d —=Z
7) sin(tan™x), |[x|< 1ia equal to
T 1 1 T
@ - () — © —= o —
8) Ifsin? x+cot'1(%) = 7, thenxisequalto
1 1 2 V3
@ 5 (b) 7 (©) 7z (d <
9 s
) The number of solutions of the equation tan"'2z + tan 13z = 1
(a) 2 (b) 3 (c) 1 (d) none
10) If cot™! 2 and cot™ 3 are two angles of a triangle, then the third angle is
T 3 s T
@ 1 (b) (O d =
11) gip~t (tan%) —sin™! ( % = & Thenxis aroot of the equation
(a) x*-x-6=0 (b) x?-x-12=0 (c) x*+x-12=0 (d) x%+x-6=0
12) The domain of the function defined by f(x)=sin™!y/z — 1 is
(a) [1,2] (b) [-1,1] (c) [0,1] (d) [-1,0]
13) If cot ™t (\/sina) +tant (\/sina) = u, then cos2u is equal to
(a) tana (b) 0 (c) -1 (d) tan2a
14) If x:%, the valur of cos (cos Ix+2sin"1x) is
24 24 1 1
(a) _\/% (b) \/% @ = (d) -
15) The value of sin! (cos x),0< = < Tis
(@) m—=x b)z—2Z (€ Z—=z d) m—=z

2 2
16) The number of real solutions of the equation /1 + cos2z = 2sin~! (sinz), —7 < z < is

(a) 0 (b) 1 (c) 2 (d) infinte
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(a) 0 (b) 5 (c) -1 (d) none
18) Ifsin’t % + cosec%% = g,then the value of x is
(a) 4 (b) 5 (c) 2 (d) 3
19) If sin" x+sin"t y+sin! 2:371(’ the value of x2017+y20184,2019__ mis
(@) 0 (b) 1 (c) 2 (d) 3
20) Ifsin" x+sin® y=2?’r sthen cosx+cosy is equal to
27 T s
(@) 5 (b) < © % (d) =
21) If sin"1x = 2sin L v has a solution, then
1 1 1 1
@ lol < 5 () || > =5 © lal < 25 @ |a| > 5

22) If the function f(x)sin"(x*-3), then x belongs to
(@ L1 (b) V22 (© [-2,-v2]u[v2,2] @ [-2,-v2]n[v2,2]

23) tan~! (%) +tan™! (%)is equal to

(a) %cos‘1 (%) (b) %sin_1 (%) (c) %tan_1 (%) (d) tant (%)
24) sin"}(2cos?x-1)+cos(1-2sin?x)=

@ 3 (b) % © I (d) %
25) If |x|<1, then 2tan' x-sin! 1i’;2 is equal to

(a) tanx (b) sinx (c) O (d) m

khkhkkkhkhkkkhkhkhkkhkhkhkhkkhkhkhkhkhkhkhkhkhkhkhkhkkhkhkkkhkhhkkhkhkxk



www.Padasalai.Net www.TrbTnpsc.com

PATTUKKOTTAI PALANIAPPAN MATHS
INVERSE TRIGONAMETRIC FUNCTIONS
12th Standard EM

reghos | | | | [ ]
Maths - A

P.A.PALANIAPPAN,MSc.,MPhil.,BEd.,
PG ASST IN MATHS
GBHSS-PATTUKKOTTAI

THANJAVUR DIST

9443407917

Time : 00:30:00 Hrs
Total Mark : 25
A - Answer Key

Answer All the questions 25x1=25
25x1=25
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(b) or<z<0
(a) 4o = 38

5) (b) unique solution
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Answer All the questions 25x1=25
1) Ifx+y=kis a normal to the parabola y? =12x, then the value of k is
(@) 3 (b) -1 () 1 (d) 9
2) The length of the diameter of the circle which touches the x -axis at the point (1,0) and passes
through the point (2,3) .
(@) & (b) 2 (0 L @ 3
3) The centre of the circle inscribed in a square formed by the lines x>~8x-12=0 and
y?-14y+45=0is
(@) (4,7) (b) (7,4) (©) (94) (d) (4,9
4) Thearea of quadrilateral formed with foci of the hyperbolas Z—Z — Z—z =1land z—z — Z—z =—-1
(@) 4(a2+b?) (b) 2(a%+b?) (c) a+b? (d) $(@2b?)
5) The equation of the normal to the circle x*+y?~2x-2y+1=0 which is parallel to the line
2x+4y=3is
(@) x+2y=3 (b) x+2y+3=0 (c) 2x+4y+3=0 (d) x=2y+3=0
6) Consider an ellipse whose centre is of the origin and its major axis is along x-axis. If its eccentrcity is % and the distance between
its foci is 6, then the area of the quadrilateral inscribed in the ellipse with diagonals as major and minor axis of the ellipse is
(a) 8 (b) 32 (c) 80 (d) 40
7) An ellipse hasOB as semi minor axes, F and F' its foci and the angle FBF' is a right angle. Then the eccentricity of the ellipse is
@ - (b) 3 (© 7 @ —
8) The locus of a point whose distance from (-2,0) is % times its distance from the line x = _79 is
(a) aparabola (b) ahyperbola (c) anellipse (d) acircle
9 The ellipse El% + % = lisinscribed in a rectangle R whose sides are parallel to the coordinate axes. Another ellipse E2
passing through the point(0,4) circumscribes the rectangle R . The eccentricity of the ellipse is
@ 2 (b) L © % (@ &
10) The circle x*+y?=4x+8y+5intersects the line3x-4y=m at two distinct points if
(@) 15<m<65 (b) 35<m <85 (c) -85<m<-35 (d) -35<sm<15
11) If the two tangents drawn from a point P to the parabolay2 = 4xare at right angles then the

locus of Pis
(@) 2x+1=0 (b) x=-1 (c) 2x-1=0 (d) x=1
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12) If the coordinates at one end of a diameter of the circle x*+y?-8x-4y+c =0 are (11,2),

the coordinates of the other end are

(@) (-52) (b) (2,-5) (@ (5,-2) (d) (-2,5)
13) The radius of the circle passing through the point(6,2) two of whose diameter arex+y=6

and x+2y=4is

(a) 10 (b) 24/5 (c) 6 (d) 4
14) The eccentricity of the hyperbola whose latus rectum is 8 and conjugate axis is equal to half

the distance between the foci is

(a) 3 (b)

15) Let C be the circle with centre at(

= §I|,,;

,1) and radius =1. If T is the circle centered at(0, y)

passing through the origin and touching the circleC externally, then the radius of T is equal to

@ 2 ) 2 © 3 @
16) If P(x, y) be any point on 16x%+25y?=400 with foci F1 (3,0) and F2 (-3,0) then PF; PF; +
is
(a) 8 (b) 6 (c) 10 (d) 12
17) Tangents are drawn to the hyperbola % + % = 1 1parallel to the straight line2x-y=1. One of
the points of contact of tangents on the hyperbola is
@ 575 7 b) 5% 75 © 575 7 @ (3v3,-2v?2)
18) If the normals of the parabola y? = 4x drawn at the end points of its latus rectum are tangents
to the circle (x-3)%+(y+2)2=r?, then the value of r? is
(a) 2 (b) 3 (01 (d) 4
19) The equation of the circle passing through(1,5) and (4,1) and touching y -axis is x>+y?-5x-6y+9+(4x+3y—-19)=0 where) is equal to
(a) 0,—40 (b) 0 ( & (d) =2
20) The equation of the circle passing through the foci of the ellipse % + % = 11having centre at
(0,3) is
(a) x%+y?-6y-7=0 (b) x2+y?-6y+7=0 (c) x*+y2-6y-5=0 (d) x*+yZ-6y+5=0
21) Area of the greatest rectangle inscribed in the ellipse 2—22 + i—z =1.is
(a) 2ab (b) ab (©) vab (d) ¢

22) The values of m for which the line y=mx+ 2\/5 touches the hyperbola 16x?-9y*=144 are the roots of x’~(a+b)x-4=0, then the

value of (a+b) is

(@) 2 (b) 4 () 0 (d) -2
23) The radius of the circle3x?+by?+4bx-6by+b? =0 is

(a) 1 (b) 3 (c) V10 (d) VIT
24) The eccentricity of the ellipse (x-3)2 +(y-4)? = % is

@ (b) & © 545 @ L
25) The circle passing through(1,-2) and touching the axis of x at (3,0) passing through the point

(@) (-5,2) (b) (2,-5) (©) (5:-2) (d) (-2,5)
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1) Ifg =27 + 33’ — IZ:,E =i+ 23 + 5k, = 3i + 53 — kthen a vector perpendicular to @ and lies in the plane
containing b and ¢ is
(a) —17i +215 — 97k (b) 177 + 215 — 123k () —17i — 215+ 197k (d) —175 — 215 — 197k
2) If G and b are unit vectors such that a, b,a x B] = 4, thenthe angle between g and bis
@) I (b) 7 © § d 3
3) Distance from the origin to the plane 3x -6y +2z7=01is
(@) 0 (b) 1 (c) 2 (d) 3
4) 1fGandbare parallel vectors, then [a, ¢, E] is equal to
(@) 2 (b) -1 (01 (d) o
5) The vector equation ¥ = (’2 — 23’ — I::) + t(GfZ — k;) represents a straight line passing through the points
(a) (0,6,1)-and (1,2,1) (b) (0,6,-1) and (1,4,2) (c) (1,-2,-1) and (1,4,-2) (d) (1,-2,-1) and (0,-6,1)
6) Iftheplanes? = (2i — Aj + k) = 3and 7 = (4 + j — k) = 5are parallel, then the value of A and p are
(a) 3,-2 (b) —3,2 () —5,—2 (d) 5,2
7) The coordinates of the point where the line ¥ = (6i — j — 3k) + t(i + 47) meetsthe plane? = (i + j — k)=3are
(@) (2,1,0) (b) (7,1,7) (c) (1,2,6) (d) (5,1,1)
8) If g, b, ¢ are three unit vectors such that G is perpendicular to b and is parallel to ¢ then g x (5 X ¢) is equalto
() d (b) b () ¢ (d) 0
9) The volume of the parallelepiped with its edges represented by the vectors i + 3’, i + 23, i + 3 + wkis
(@) & (b) % (c) = (d) 7
10) If the distance of the point (1,1,1) from the origin is half of its distance from the plane x +y + z + k =0, then the values of k are
(a) £3 (b) 6 (c) -3,9 (d) 3,9
11) If a vector a lies in the plane ofﬁand ~ ,then
(a) [aﬂg’:ﬂ:l (b) [aa B?:ﬂ:'l () [aa Bﬂ 77]:0 (d) [a’ B,,‘)‘,]:z
12) G.b = b.¢ = ¢. G = 0, then the value of [, b, & is
(@) lal b [¢] (b) 3(dl [¢] €| (0 1 (d) -1
13) If the volume of the parallelepiped with @ x B, b x ¢, C X a as coterminous edges is 8 cubic units, then the volume of the

14

15

parallelepiped with (@ x b) x (b x &), (b x &) X (¢ x @) and (¢ X @) x (@ x b)as coterminous edges is,

(@) 8 cubic units (b) 512 cubic units (c) 64 cubic units (d) 24 cubic units
) The angle between the line 7 = (i + 2 — 3k) + £(2i + j — 2k) and the plane 7. (i + j) + 4 = 0Ois

(a) 0° (b) 30° (c) 45° (d) 90°

1 1 1
PRI z,then

) If the direction cosines of a line are
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(@) c==+3 (b) c=+3 (©) ¢>0 (d) 0<c<1
16)1fg=17+j+kb=1i+4,¢=1and(d x b) X =\ + b then the value of A + 1 is
(@) 0 (b) 1 (c) 6 (d) 3
17) ¢ [a,B,E] =1, (i(bfa B;(Efa C:(E{E is
(cxa).b) (axb).c (cxb).a

(@) 1 (b) -1 (c) 2
18) Consider the vectors @, E, ¢, Csuchthat (@ x B) x (¢ x J) =0 Let P, and P; be the planes determined by the pairs of

vectors a, band ¢, d respectively. Then the angle between P; and P; is

(a) 0° (b) 45° (c) 60° (d) 90°
19) The distance between the planesx+2y +3z+7=0and 2x+4y+6z+7=0
VT 7 V7 \'DE
(a) 2 (b) 5 (os (d) Wi
20) Ifa x (b x €) = (a x b) x cwherea, b, ¢ are any three vectors such that @, b= 0 and a. b+ Othend and ¢ are
(a) perpendicular (b) parallel (c) inclined at an angle Iz (d) inclined at an angle %
21) £ g, b, ¢ are three non-coplanar vectors such that @ x (b x &) = b:/r;,then the angle between
3m
(a) % (b) 5 (c) T (d) =
22) Ifc_i b, ¢ are non-coplanar, non-zero vectors such that [@, b, ¢| = 3, then {[@ X b, b x &, ¢ x ]}2 is equal to
(a) 8 (b) 9 (c) 27 (d 1
23) The angle between the lines $32 = ﬂ21,2 2 and ’”T_l = @ = %5
@ § (b) 7 (© X d I
24) If the line 72 = y_;; = —llesmthe plane x+3y +-oaz+p =0, then (o, B) is
(@) (-5,5) (b) (-6,7) (c) (5,5) (d) (6,-7)
25) If the length of the perpendicular from the origin to the plane 2x + 3y + Az=1,A >0 is % then the value of L is
) 2¢/3 (b) 3v/2 (¢) 0 (d) 1
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